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e WdRK;I;ﬁG,._.IﬁSI (ORGANIZATIONS -

1. An organization chart shows

A. the formal relationéhips between the people who form an, -

organization . b & .
B.. the informal relationships between the people who fggm an
organization .

,tthe dutieg done byfeach worker in the organization
tbe kind of product or service made by the organization ’
',,,"' -~
Which of the following best describes an’ organization9
people satisfying all of théir own needs without help from
others . . o o

., . .'s(.‘.

B. a number of people who are alike
S C. people working together toreacha.goal by - cooperating and
A gt . dividing jobs

e D. people working alone to reach their own goals
= ' t

3. Which of the following is correct?

‘A. very few workers today" belong to a union

B, about one-fourth of all workers today belong to a union

C. about three-fourths of all workers today belong to a union
P D. almost every worker today belongs to a union

., 4. Which of the following is not true of all organizationz;'9
A._ responsibilities are divided among the members or workers to
: help the organization reach its goals
B. organizations have "power-centers" to direct them toward
.~ - their goals . s
c. organizations get rid of people who are not doing their jobs
correctly
D. organizations -encourage people to work alone to reach goalse

5. A manager who is in charge - -of jobs that add directly to organizational
goals, such 'as an assembly line boss can be described as:
a staff manager T o : .
‘a line manager’ o '
an indirect manager
"an operations manager

Caw»

: .

6., Which of the following is an example of a staff manager’
A} . , : '

an assembly Iine supervisor . ’ .

a foreman

an’ economic advisor L

production manager - '

oW

/




. ' A- 27"‘: - . .l'
. . . =~ . - ?

.7.'.Hhen workers will-not give.help‘to'Others:

A. it is harder to reach group goals and fihish individual Jobs
B. -they are helping to reach organizational goals
. C. they are working together well and dividing .Jjebs between
workers’
D. it is easier for people to satiigy their_own needs

. &
8. /A worker who be1ieves it is important to work well with others
would probably" ) .

* AJ not give help to other workers '
“B.' not accept guggestions, criticism or help‘f_Bm other- workers
'C. not be willing to give and receive help in work situations
D. -not know about the whole. operation of the organi;ation
. - -
9. If a labor union and organization management have needs that- are
in conflict, which ef the following will probably happen"

A, a11 of the union's needs will be satisfied
B. none of the union's needs will be satisfied” 2=
C. union and management will compromise 80 they_both can meet
o some of their needs -
D. -all of the management 's needs will be satisfied

10. Alice has been working for an organization for six‘months at an
important Jjob. " She only cares about her job and will not. help

other workers. Alicé will pPt accept any help -or suggestions from’

other workers about her job even though she is not doing th& job

correctly. ¥Which of&the following will probably happen to Alice?
BN

A. she will be promoted by the organizatibn —

B. the organization will get rid?of her . e
C. nothing will happen - . e

D. she will be given a less important JOb

11. Ellen just got a job in an organization and 18 not sure where
‘ she "fits in' to’ the whole organization. Which of the following
- would be most helpful to Ellen in finding out where ‘she "fits in?"

¢ s

A. the worker handbook of rules “
- B. the organization chart . T - ‘
C. the company.policy book s : L S
. D. ' '

the union '8 list: of things it does to help wokkeérs

<

xud
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. - - . A.
~. .12, Labor unions were formed as a way of dealing with the conflilts
. - between individuals and organizations. Which of the following is
‘" . an examwple of conflicting needs between the union and the

organization management’ i .

A. workers want a normal amount of work o do and the organization
+ . wants high quality work
" B. workers want safe working conditions and the organization wants

a good safety record . S
C. ‘workers want” interesting work and the organization wants _ _
workers to work well tqgether. . /.

D. workers want more money and the organization wants to cut costs

q

.

13. Which of the following is not true of ar organization°

A. people join together to reach gbéals by working together well ~
B.~ people divide jobs among themselves

C. one person's job in.an crganization is not important ]
‘D, successful people in the organizationgiveand receive help

/-\',

14, Which of the following is not shown by the organization chart?
\ .
A, the different)parts (divisions or departments) of the organization.
: and how they fit together - . .
\ «B. all the lines of communication - ' :
C.. the formal relationships between the people who form an organization'
D. who is supposed to be whose boss:or supervisor
. -
15, Which of the following best describes the purpose of labor unions’
7
A. 'labor unions are organized for the purpose of getting workers
2 vmore/money . .
‘B. labor unions are organized for the purpose of hurting the -
organizption
C. lapor unions are organized to g/we workers more power in dealing
with-the tonflicts between individuals sand organizatibns -
’, D. abor unions- are organized to help. organization management
atisfy the needs  of . organizations - ‘ :

R >
)

"16. To reach the goals of the organization, each persgn must do his
- . or her o ob. Yet, only once in awhile can one person do a job
without :gi%*from others. On- whieh of the’ llqwing is this sentence
' based?" - e o [ - ‘
A. an organization is m4de up of a group o£ people joining together
to reach goals by working together well and’ diuiding jobs
among thefs®%ves
B. org?hizations get rid of’pepple who are not ﬁoing their Jobs

o, .. correctly . / v
C. organizations have "power-centers" to direct them toward their
i | goals ° - :

.D. eople ¢an meet their needs more easily when they work alone
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" MOTIVATION FOR WORK g )
’ I't . A .
1. Human needs can best be tdescribed as: 4
_A. the way a person feels about something ; T —
B. those things or feelings that people want or need
. 'C.” the way a Person feels about someoné else
~ D. those things or feeliugs that people do not want'or ‘need
' //?‘A' 2. " Which of the following is not a kind of basic human need? ‘ b
A. physical needs - . S
B. - security needs LT . :
C. socilal needs . P ) , - .
D. transportation needs ' - :
.7 " 3. Which of the fdlloyingfbest'explaids work? .

- .~ A. work is done when you are paid for something that you don't
Co . really want _to do
, B. wqrk is doné” when you really try to do something to setisfy
) other people's needs
" C. work is done when you really try to do something to satisfy
© your own needs and also to satisfy other people's needs -
D. work is don% only when you make money for what you do

4. Which of the following is the most basic of all human needs?

physical needs

. security needs v
social needs . ' S .
need for se!f—respect and worth '

~i

OO W >

i

5. People working at jobs that give them a sense of belonging are

satisfying

/ A. physical needs ' ' '

\ B. seécurity needs .
C. social needs . -
D. need for se1f-respect~and'worth ’

6. A worker who says "I hate my job I am only working at this: job
for- the money is indicating only: L
A. satlsfaction of the need for se(f-fulfillment
5. satisfaction of the need for -8elf-respect and worth -
C. satisfaction of social needs .
D. satisfaction of physical.and security needs‘ ‘
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7. Which of the following basic human’ needs is the least satisfied >
by most workers’

L

- A. physical needs _
B. security needs .
C. social needs
D. needs for self-fulfillment

S . N 1 . .. . 7
8. When people want to&?ork in oiper to meet tﬁeir needs or reach
goals, they are: : } - K
3 '

-

A. selfish, . e - . o
K - B. motivated - S S o
. B ,.,,. C. unhappy } ) : ) N

' D. 1lucky- . -t -

9. A person has not been working for some time, has run out of moﬁby
amd has no place to live. The person is looking for amy kind of
-a job. What type,pf basic human néed is the person trying to

-

satisfy?. . , ‘ ok
A physical needs S o . ’ . - o
. B. security needs - o * JEPY
C. social needs - ° : S : ’ .
D. needs for self-respect and worth

10. John feels as though he is in a situation\in which he must try to
- meet the needs of others but is not allowed to do anything to
"meet his own needs through his job. Which of the following is

the: best description of his situation? - -
] A. normil working conditions.' o o
‘ ‘ B. slavery ~

C.  a satisfying job
D. voluntary work
- L}

11. Betty has worked at her job fq; two years. *She earns good mogiey . -
and enjoys the friendships with her fellow workers. However,
Betty does not like her job. - She feels as though she is.not doing
anything important. - Which of the following basic human needs is
Betty not satisfying at, her job?

A. physical needs e

: ~ B. security needs . . ) .
- C. social needs_ ¥ : ,
: D. needs for self-respect and worth o LN
. ' |
~ hy t N
( ‘ - h)
- ' ~




12. When George ‘began’ looking for a Job what he cared about most
was that the company he went to-work for had good medical insurancé
for employees and-a’ good retirement,plan. He ‘did not, wan;_to WOrTry-,

N abSut what would happen if he got gick or how he would 1ive’when
- * - he retired. - Which of the following basic human needs does George
- —care most:about?  ° ) o R
LAl -physical needs S e - T e )
. B.” security needs - G i S
: C. ..social-needs . .~ . T . s
.D.’ needs for self-respect and worth . - ' -

v

13. ”People do not - care about their sbcial neéas unti] their physical
.+ ahd security needs are satisfied. On which of the following
'is this statement based? . o e

A, when we satisfy/one leVel of need we move tosghother
B. physical needs are not as impértant as soclal needs
C. social needs are- the hardest, to- satisfy . ]
D. there is no’ relationship between the different type of ‘basic
. human needs - _ \\ . -
14. .Which one of -the following.best\describes why people go to work?

- A .

A, people go to work because they eed the money -

B. people go. to work because other peoplg make them -
. » C. people go to work to Bati&f e basic human needs -
v D.

people go to wo;k only if ¢ ey have to
o, . o <. ' “

. 15 People should look at their bwn needs and how -these needs can be -
- . satisfied through work. Which of" tHe following does not, agree
with this statement? e .

—
~

N ¢

S _ A.  since gach person is different, individuals are likely to
' have different reasons for: working . s
B. * to many people‘ work means more than ‘just a way to—earn money
C. work means sabisﬁging only the needs of others and is almost
like slavery - LY ¢ g
D. work can be very satisfying and rewarding if iéfsatisfies not
only physical;and security needs, but also othér types of
\\\_‘¥§eds such ‘as social neels, needs for self-respect and self- -
lfillment needs L g ot o
. 16. A psychologist studies the problem of workers: who are not satisfied
and unhappy by talking to séveral hundred workers The: psychologist
' found that many of- the workgrs were not satisfied and unhappy for
' different :reasons. Why do you think there were different .reasons
. for ghe workers to be not satisfied and unhappy?

. ‘A, different people are” motivated to work to satisfy different R
oo human..needs < - '

B. workers are mostly concerned about making more money . -

C. - the workers did mot "all work at the same job

D. all workers -are concerned with satisfying the same needs

,s" . . -.'.f . - - ’ &

J s . ’ .
- . . 4
; ' s ) I2 . N
. N N N
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U o ,"UNDERSTANDING‘ SELF =~ . ..

, ' . v\ S .
. [} o - .
1. Perceptions can best be described as: . N
. . : M
N “' - A. the w&y we see things, people and situations
< | _B. the: attitudee we have about things, .pedple and situations
o "C..' those things, people and situations wedggiﬁe
: D. those thingg, people and situations we “dislike ‘
2, Standards for deciding whether somethingx\s good or bad are called:
A. perpeptions » - | ‘
B. behaviors » . .
« C. values
: D. interests‘ *
3. Which of the following is probably the least important when doing
a self—evaluation in order to understand yourself better?
.‘A. your self—concept :
B. where you live > ‘
C. your perceptions
.+ D. your values ' ' : ) .
4. jHow people see themselves is called:
A. mood
B. wvalue .
C. prejudice ) o, by
D. self-concept
: 5. 'Stereotypes can affect a person's perceptions. Which of the
'fL_ following is an example of a stereotype?u :
A. nurses are women R _ : . _
B. daydreaming is a waste of time - '
C. a fair day's pay for a fair day's woﬂk\f e
D. ‘a poor self—concept ' ! @
./ v 6.' A pexfson who says "the way to be . happy is to enjoy myse%f and

not think about. my problems" probably believes that:

A. it is‘easy to spend more. time and energy in staying away from .
problems than it would take to solve them :
B. staying away from problems is easier .than solving them
O\ staying away from a problem can often make it seem bigger than
. 1t really is
D. staying away from problems, over a long time, almost always
makes them worse and harder to deal with than they were in
° the first{place

¢




7. A pgrson who says "My childhood and things th@t happened An the «
past determine how I feel now, and there is nothing I can do about
P it" probably believes' : :

A."people have® the ability to change their actions. so'that they

. can act in ways that are more to their advantage s <
. B, . the past has no magic effect on a person's present or future
“\ : "«C. the feelings and” actions people learn as children are the

feelings and ‘actions they will have -when they are older .
~D. sometimes the ways of acting that got people what’ they wanted
‘as children will not work when they are older

8. Other people can often be mirrors for our perceptions of our-
selves. We often see in others what we do not want to seg or
believe about ourselves. Which of the following is not. an example = -
of this idea? -t Y D :

L4
.

. AL ‘a man who says "nobody listens to me" when really it is he who
- doesn't listen to others
"~ B. a woman who sees her boss as being cold and unfriendly when

‘really it 'is she who {s” cold and unfriendly. .
C. a man who likes- another person's warm, friendly a itude when "
he really has the ability to be warm and friendly N
D.  a woman who enjoys the friendship of a fellow worker because
they are the same type of people: i
‘93 - Joan has worked for the same company for over two years and has
been doing the same job for all of that time. She is very good .
at her work. She has been offered new responsibilities and challenges
at different times. Howevgr, Joan has.never taken the opportunities
because she is frightened she will do poorly at a new job and mess:
: up her future with the company. Which of the following beliefs
f\' - does this situation best describe? - . .

A. T have control over my feelings -
B. solving problems is easier than. staying away from them
- C. I must not fail at anything - if I do, it means that T am
either stupid, lazy or pad E
D. most things in life that seem scary or dangerous Seem that
way because I wWant to look at- them that ‘way

10. When people are trying to decide what types of Jobs to look for
-they should: .

A.- choose jobs that they are interested in

B.. take the first job they are offered, ‘no matter what it is
C. choose jobs that ‘friends would like

D. never.take the first job offered




SO ' S L I .
11.  Tom started work two months ago at a-department store.as a sales.. -
clerk. He enjoyed his job and was doing very well for the first :

'~ month. Tom had set a record for most sales by a new worker duripng
ot - the first month: " The boss and~Tom}s«fe118ﬁ workers had told Tem: '
.. ¢ . many times that he did good work. -However, lately.Tom has seen.' -
'+ that no mattzr how well he does, the boss and other sales people
-+ don't seém _to gee it. He doesn't ‘understand why because he tells.
them everyday how many sales he 1is making. Tom has seen that mest
, . of his fel brkers’havegstarted,staying away from him. He is
. . starting to think that he is‘failing at his job and can't figure

~ out why people are staying away from him. Which of the following

beliefs does this situation- best show?

-

A. I need and must have approval all the time from all the people
I think are important - o
- B. "I must not fail at anything
C." I have control over my- feelings : ~ .
D Solving problems is easier than staying away from.them'

—

12. Jaf peqplé want to look at themselves in different work gituations_‘
~ and think about changes they want to make in their actions, they-
sq?uld do a self evaluation by: - - - :

looking at their self4cOﬁcept,_beli¢fs, feelings and values
- looking at their way of seeing others, *
‘Iookingaat their ‘interests :

all of the above

13. 1Ivan andﬁTérry were fighting apout whether éf’is pos;:;Ié\E; change
your feelings about people. and things.’ Terry said that "other .
+ péople and. things cause my feelings.' Terry thought that things
that happened in the past caused how sheyfeels now. ‘Which of the
following sentences shows how Terry would end the talk?
s e , , Erx _ ,

Dowx

A.. feelings can be changed if you try hard enough R S
B. feelings can be changed easily - . ' ) o

-+ C. people have no control over their feelings ' S e
D. people have control over their feelings ' - : s

l4. Which of the followihg best descfibés why people should do a
self—evalugtion? ' . » ,

A. people can hélp themselvek by looking at themselves honestly
+ » and finding Ehings in which they can improve themselves :

B. businesses can make more money if all workers do a self-evaluation
C. people need and must have approval and love from all the people
~they think are important o - » ,
D. a self-evaluation will keep workers from failing at anything .




15, - Pegole do not always .see. other people as they really are. Which
- of the following does not agree with this idea”‘
' - A. dur moods, prejudices and things that happened in th past,cause_,“‘?

. 'the. way we see others wo s - e‘\"". , T
, people often seewhat they want to see'
: C. }perceptions ofuothgrs are always correct
e " D. people ‘see thinés as" they have seen th

v
L

L
‘ - OB

in the past _;ﬁ

L ' SR
" 16, People should look at themselves all the time n work situations i A

. &' . . and think' ahout chadnges.they want to make in their actions ‘ona; RS
' wh#h of the following is this- statement based?

f -

NG ‘A. self—understanding ts a thing people should do a11 through e
. . their lives, because people are ‘always changing R o Do
'B. once people become dlder their pef%eptions, feelings, and ' !
values will not change @ = - .
C. elf—evaluation 1s .a hard job that needs to be done onl once'
in a- lifetime . - :

)

D. people cannot learn habout themselves from other people

¢
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S . INTERPERSONAL RELATIONS '

: R . ,
RN R Which oﬂ the following best describes motives. o

’ .

St A, .needs or desires which edgse people to act’ in certaih ways
\\*\ + Be the attitude a peragn has about g mething or someone Y,
v AN T C;"ehose things and‘peOple which we' slike - :
o -7 D, rules for deciding ff sometﬂing is good or’ bad L 5 -
s 2, Which one of the following is not true of perception*
” ' A, perception is related to our experiences : .
B. perceptions cannot change - ' '
' C. perception is unique - ‘people see things differently B
D. - \perception causes wnat we do

3. 'Most people who lOSe their jobs, lose thenm because.

A. they do not have’the needed technical skills
B. they miss work a lot

C. they are th -able to work with fellow workers and bosses
D. they are unlucky : :

’ S A, people having different perceptions of a certain 31tuation
' B. people .becoming upset or angry with others
C. people who do not have the needed skills to finish a job
D. people who do not notice others feelings
5. One way to ‘stay clear of interpersonal problems is to "listen" for
feelings of other people 'Listening" for feelings ‘means:

A, 'asking the other person to speak'more~clearly so‘you'can

) £ understand - (S
‘ B, - asking the other person to speak louder S0 you can hear
Voo - every word
: ' "C. mnoticing feelings in the other person that are not being
’ " 7. directly shown by words
: © D. remembering word for word what the other person said

6. Headaches, stomach ulcers, high blood pressure and/or heart
attacks are more likely to happen when people:
A. do not notice and express feelings
. express positive feelings X .
- express negative feelings e e . - e

o learn ways of expressing their. feelings jf
« 8

) -9
UOow

S
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7. Our relationships with other people are greatly caused by ‘how
we ''see" or 'hear" them. We see or hear .other people- through ,
\ . - our prejﬂaices and biases. This idea is' 'shown best by..- T P |

3 | A

. A, workers pulling together to help a fellhwworker with a big job

B, ’a boss who thinks a ‘hew worker. will be a troublemaker because
"the new worker looks like a past employee who was fired fdr -

causing trouble

. - C. workers all through a company showing a positivenattitude ,
' toward’ théir jobs = - oot
\\7 D.: a worker who is very good at the technical parts of the JOb

but has trouble getting along with fellow w0rkers

- 8. 'John 1is good at telling others how he-feels in work situations = .
and had developed .good interpersonal relations with fellow workers
- ~ - At what ' is this worker good9 ‘o
A, setting ideals for what is good :d oy
B. talking about situations and'proglems openly and tactfully
=. the technical parts of his job ’
D. looking at things from only\one point of view ‘

“ 9. _ Paul is very angry with something happening on the job. Because
of this he is making mistakes in his work. The best thing for
Paul te do is' N . , N C
o 0.
A. npthing, feelings go away by themselves ’
B. show his feelings by exploding at the- person causing the
' problem
C. let go. of his anger by yelling at the person who he is
. working with
a - D. 'openly talk about the problem with the boss or fellow worker

10. -Debra works in the shipping section of a large company._ It is
fiot her job to answer the questions of workers about receiving.
One day a worker asked her to help him check on a late shipment
* J . of goods he was supposed {o receive.- ‘She sharply told him that’
: checking on shipments coming in was not part of her job. The
_ - -worker was angry ‘and: reported her to the boss. How should Debra
L have handled the question? . - :
C A. Debra handied the quﬁstion in the best way -
T B. Debra.shoulfl have checked on the shipment coming in even

A though it is not part of her job just to mdke the worker
happy
C. Debra should have tactfully told the worker that it was not
. part of her job and showed the wgrker to - the person who -
~ could help ' . )
T : D. Debra should have told the worker to- check on the order
(R - .himself

a4 -

e ) C . , : . : ' ' . . - s
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.o 11.  Andrew's desk is across from the officé door? Even, though he is

. ~ not the receptionist, almost evéryone stops,at;hisjﬂesk for™

directions. At.first he was very nice in héipiné‘thém find the
person for whom they were looking. Latgly, .however, -he has
become angry with the many questions. . Sometimes, he won't ‘&yen
look up at the person but. just points in the direction the L
person shpuld go. The: problem is causing’ Andrew ‘to do poor. .

-work and he wants it'éleafbd up. Andrew should: ' .

. \ . A >keép being ﬁnfriendly-t0'pebp1efasﬂing for'directions soj
4 e , they won't bother him the next time : .
&, : B. accept the job of giving Q£25ctions as another part of
r : .- - _

"his work load S
’C. .openly talk about the problem with his boss to try to
) figure out an aenswer 'to the problem ‘ . ro
D. digfore the problem because it will probablywgo away in time °
12. Larry is a very fast worker and expects ofher workers to kkep
up with him. "Larry is young and usually finds it hard to get -
along with the older workers. Recently he had an argument with =
an older woker he was working with about whether the older
o worker could work as fast as Larry before the older worker .had
even started working. What seems to be the cause for Larry's
problem in ‘interpersonal relations:

A. Larry is too good at his Job :
B. Larry is prejudiced against older workers L .
C. Larry does not have the necessary technical skills to do
i his job well = DL N N . I
. D. Larry has too 'much work to do and sholild -talk about th
i{? . problem openly with his boss LT

13. Which one of the fbllowing best describes the importance*bf‘go@d
*  1interpersonal relatdons on the job: o ' ’
Al workers wlio do .not have ‘the necessary techniea? skills will,
) lose their jobs _ ' _ 54 ‘
B. 1in order to be successful, workers must be ‘able to handle
- the technical skills of the job but must also¥be able to - )
'~ notice and express feelings at work and get along with fellow
. workers S ) o o o
- L C. to be successful, a worker must be ableto get along with all °
* fellow workers no matter what the situation ‘ b
D. workers with the necessary technical skills do not' have to
be worried about getting along with fellow workers

PR
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A I Negative feelings ‘can later show up as a bad mood -a headache or .
o o a sudden "explbsion" over a small thing that made you angry. : ’ .
e f "WhicH of the following is the idea upon.which this statement . .
L {18 based: . . . - &.'«c _ .‘~ u o S
Y W negativé feelings, such as anger will not go aWay by ' s

 themselves , - - s

¢ B. people have feelings both on and -off the,job - - o+
’ C. most people lose their jobs becausé they can 't get aloﬁg
oo with fellow workers, ! i St 4
[ , " D. it is best to try to forget about negative feedings because W
Y : they will go away by themselves in time LE S [
15. A psychologiﬁt ‘studied the problem of why people sometimes O
- ’ "have -trouble showing their feelings. .The psychologist found o
' that some people are afraid that. others 'will not 11iké them if \

_ they show their’ ‘negative feelings. Some people have trouble
showing negative feelings without hurting someone else. AIso,
5  ~ some’ people are afraid others may hurt them if they show their
fee1ings Which of the- following is necessary before people
can show their feelings.

the feelings must be recognized
the feelings must be forgotten about if possible * :
the feelings must be allowed to build up over time - (~ﬂ

c:g:yib

the feelings must be positive

16, Sally and John were fighting about whether or not workers should
hide their feelings from the boss if they do not agree with the
‘boss about something. Sally said that,not agreeing with a boss
is a sure way to-get fired . John, however” said that it is
" important to: show-your feelings even to the boss. He said that
- Af negative feelings are shown in the right way, getting fired
will not happen. Which of the following most shows the way -

o ~ John feels? . S

A. negative feelings or disagreements 'should be openly and .
. - tactfully talked about with whoever 1is involved P
. B. negative feelings or disagreements should be openly and -
. tactfully talked about only with people who work under. you
. - C. not agreeing with a boss ‘is a sure way to get fired or
) at least'get in trouble. . .
D. workers should show only positive feelings to a boss ’

.
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# ' : ~ EFFECTIVE COMMUNICATION - | P
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qlﬂ Which of the fpllowing best;describes communication? ! I o
. [N ’ N -
o s "A.. *one person giving directions for finishing a job to another
<. ¢ [V |- . .
: person., : 4
. B. ‘an exchange of thoughts,7opinions or information between
o people o
SR C. two or more people thlhihg about something important "\,'v '

D. written'messages between‘people e . ‘

, 2.  Which of the following is not one of the ﬁhree\elements of
communication7 ' p :
. .
A. the sender of the information
B. ‘'the importance of the information
C. the receilver of the information P
D the message :

3. {\Puring the process of twb—way.communication: "[

L, e

. the receiver listens carefully to the message but is not
allowed to ask any questions
information passes from the sender to the receiver and from
the receiver to the sender -

: \“;1“ -information passes only from the sender to the recelver
B
D. 1information passes only from the recelver to the sender

4, Gesturing or showing expressions through movements of the body _//
is called: '
A. verbal communication
B. non-verbal communication .
‘C. written communication
" D. one-way communication

5. A person's self—concept affects his/her aBility to communicate |
- with others. Self-concept refers to:

A. - how people see themselves or opinions persons have of themselves

B. ‘people listening for meaning rather than just’'hearing .

C. giving information clearly so that the receiver can understand ,
the message

D. how peOple See others,or opinions persons have of others -

’ -

v

P
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' 63. The followtng diagram best shows:’ ! :
f AR Mmesaage' N . .
T e sender : : recejver
e - response T ,
. 4 . R . . . N
| - XA written communication - N . ; '
. B. verbal cogmunication -
C. one-way communication , : -

. D. ‘two~way communication = :
7. The 'sentence "listening means more than hearing' means that:

A. information should be given simply and complegely
. B. the sender of a message should talk in a clear way

C. hearing is done with the ears, while listening happens when

_the receiver understands what the speaker means

" D. most people cannot understand messages

8. Mistakes that are made by workers because ‘they did not understand
' the directions for a job usually happen because of:

¥

A. one-wAy communication
two-way communication
*/lack of supervision
D. poof self-concept

9.i Susan has been given a job to do by the boss but does not really
understand the directiong for finishing the job. She should:

A. act as though she understands the directions so she'doesn't
look stupid and do the job anyway
B. act as though she understands the directions and ask other
workers to explain the directions .
C. ask the boss questions about the job in order to make sure
s she understands, the directions
D. rtry to get another worker to do the job who alfeady knows how

10. A boss is giving directions to a worker but is not sure that the
worker 1s paying attention. Which of the following might show
that the-worker is not paying attention

~A. the worker is leaning slightly toward the boss
B. the worker is not looking the boss in the eye '
C. the worker 1is! nodding his or her head in agreement once in
awhile LT L : -

D.  the worker 1is.asking questions e

e " . 4 - W
) .

Lt d
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llﬂ,Jill is a.ggw worker at a small company ~She has’ difficulty - -
Atalking with other peopleg 111 is getting upset -because, some .

L .. her- fellow workers are 1ng to tell her how td do her. job. .

™ sJi11 ¥g. certain' that she can learn thé&*job by herself and. does ' - Y

v not want' to be told what shé is doing wrong. One fellow*wo

A said to~J111 "You always think‘you re righth”Ca 't youw eveﬁ\say

. ' " that you“re wrong?" 'xhis cpmmunication prqblem probably happenéd<'
4 because of: o . S e

-B. 1Jil1's fellow Arorkefs not givitg information clearly .
L C. .Jill and her fellot workers not ligtening to each other
D. the job being too hard for Jill. '

L. - L . o | . |
- ' ';A- Ji11' g peor sjéf-c cept e ‘\§ -

°

N

12, The workers in a large business office are having a communication
. problem. The new.gupervisor always thinks that other people know
“'what she is trying to sdy so she really doesn't explain what she

means. This has caused many mistakes being made by the workers.
When the office manager talked to the superviso¥r about the situation
the supervisor said that her words just don't seem to come out the
way she wants them to. This communication problem probably happened
because of:

. the supervisor's poor self-concept S

. the workers not listening carefully to the supervisor

. the supervisor not giving information clearly

. the workers not being as: smart as the supervisor .

' b, \ .

135 Two-way communication is different ﬁrom one-way communication

-because! :

4 .

y

OO w»

re .

A. two people are involved in the communication.
B: the receiver is not .allowed to talk to'the sender of the*
. message .
C. the receiver of the message makes a response tg the sender,
‘ for example, aéking a question :
! ~ D, the sender~gives the message to-the receiver at 1 ast twice

’ in two-way communication in the exact same way '

" Which of the following is the reason. for- this? St

"y o » A.. the more people involved 'in communication the better
' B. .the sender of a message should never be stopped by the receiver
_ ‘'since this will confuse both pedple ’ I
C. When the receiver of a message listens to the sender without

making any response the sender knows the message has been .

. ,understood - - e . 3
. ‘ D. 'when the receiver of a message responds to the sender, for
" . example by asking a question,v the message will probably be

~understood

) ' \f‘; - _m‘. [ ..-:ll-
T » . : L ) .
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fMost workers need to communicate with others such as fellow ,
jvworkers, bosses, ‘people who work under them and customers. >
L Communication'is. important to the ‘smooth’ operation of any.organi-
. ~ zation. - Which of " the following does not agree with this . '
- statement? .
S A, when people are not willing or not able to talk to each other,

_ .workeib-may ‘make mistakes

B. . eéffective communication is on important between managers - B

'C. all workers should know aboutﬁghe communication skills they R
e« . need to improve. ‘
D. Communicating effectively 1s ‘a skill that will help workers

. do thetir jobs better
SN . . ¢ ¢

A 16, 4Which of the following is not a type of communication?

~ A, body language . . . A v v
'B. verbal messages v S ot
C. written’ messages .o T, y
D. self-concept . "ks - )
- L '3 : i
. . & oL,
. .

) / ‘J).'\ .
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Yl .~ USING CREATIVITY ON THE JOB

1. Which of the following is not trie of creativity? )
A éreativity'is'something that only a few people have:’ S
+B. creativity does not mean the same thing to everybody
C. people can.block their own creativity or the creativity of
others .. A ' ‘
~ D. creativity is something potentially given to everybody at
S birth - : , S Tl : .

2. ’'A way used for gétﬂing a large number of ideas fqr~sblving'a_'
problem is called: : : .

" A mterviewtng . j
‘ .~ By criticizing - : -
C. brainstorming~ 7 ' : — ' ‘
- D. " evaluation - S 5 T

- l.%_ , L B . 4
3. Which of th ,'ollo;%%g~ié:not-a block or "stopper" to a person's
' creativity? , 3 i A ' :

~ A. criticizing their idegs'before they have-a chance to develop
 fully . _ A B f o
B. writing down all ideas before talking about them or making
~any judgements - : A . R

C. automatically forgetting about ideas that seem just barely ,~
""" to have anything to do with the problem A ' , '
_ D. "deciding whether an idea is good or bad almost as soon as
' it is .thought of ' ‘ ’ e S ' :

4. When a group of peoble are using the brainstorming means to solve ~ ./
a problem, the first step would be: ‘ ; )

deciding whether ideas are good or bad
criticizing other's ideas as|they come up

putting the ideas into two groups of good and "far.out"
think of as many ideas as possible

~NeN--N 4

"
5. People can use thgir creative abilities 1nAdifferent workgsituations;

Which of the folYowing is not an example of using creativé talent .
- on the job? o S k ‘ ’
: P
A. an idea for better use of time and ené}gy.
B. following directions completely and correctly 2
C. a plan for doing away with a report- '
« D. an idea for using office space better { o

Y4 O
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6. - By -using their imagination and initiative, -a group of workers
' are talking about ways to make the gffice rTun better. These
workers are: - . '

A, using their creative talent to make a work situation better

B. wasting valuable time A _ .

C. causing problems -for management - '

D. not supposed to be using imagination and initiative on. the job\

7. ‘When people say/that they do not have any,creative ability, they are:J
s A, probably correct, since very few people have creative ability
s B. - blocking their creative taletits v 3
GC. °using their initiative and fmagination P
D. making themselves more’ valuable t their bosses

' . _" 8. A worker who has an idea for a new ma hine to take the place of ;

something done by hand: S ' A
- B A. is showing creativg)ability
B. does not understand the working conditions

C. should keep the idea to him or herself - _
D. should not be using his*or'her imagination on the job'

9. Steve. and Carl ‘have worked together for several months at a job
that they both think is dull. - Steve has coime up with several
ideas to make the job more interesting. But everytime Carl

riticizes the idea. He says that management won't cha the
_ things are being done.. Steve then forgets about it/ Steve
K should probably.¥~ s ' L.
A A stop thinking of ways to make the job more interesting
B. , keep thinking of waysdio make the job more interesting’ until
he comes up with one that Carl doegn't criticize - '
C. ‘follow through with his [ideas by e%lking to management about
: : them - ‘
Q D. tame down his ideas so. that Carl will think they are good
10

0. T A worker hﬁs come up with an idea to use ‘plastic instead of wood
d

: ‘for a prodlict being built at the company. This means of using = v
'I. "~ creativity is an example of: ‘ , ]
A. rearranging - - o ' £ L . ' K
B. reversing SR - o
A C. substituting : ' : ot
-~z D, combining L , .

-~
BN
.
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'}1. Creative thinking may mean questioning 1deas that many people _
' accept without thinking about or disagreeing with commonly accepted
ways of doing things This concept is best illustrated by: '

A. a worker who says that all workers should be aliowed to~se;
" their own work schedules L
" B. a:worker making‘a window display for the Christmas shopping .
- season using a.Santa Claus and toys - ' o
C. a sales manager of a department store deciding which items to
.. put on sale ip order to increase sales
D. workers who follow directions correctly

. 12. A worker has come up with an idea to change. the way things are
L "~ done in an office by giving two jobs to one person who does not
) o have enough work to do. This means of using creativity is an -
’ example pf° : ' - - '
- A. substituting : o : - , - .
B. combining ' :
C. .reversing ’
D. changing the size

13, Marla has worked in the dibplay department of a large department

' store for several years. She started working as a helper and has
wotked her way up to- department manager. Marla 1s a very creative
person who seems to always come.up with good display ideas. Marla
does not listen to any of her workers' ideas since she is sure
that the workers can best be used to cdrry out her ideas. Marla '
seems to: believe' - o N - AERE
A everyone has creative ability - s

" B. only a lucky few have creatiwe ability

C. mnot letting workers be creative can be harmful .
D. all workers should be allowed to shbw thelr creative abilities

;oo 14.  Workers’ should examine their own creative abilities and how these
‘ abilities can be developed more. 'Which of the following does not
L agree with this statement? . ' :

A A. people can develop their creative ability through learning
B and practice -~
B. creative ideas are needed in any situation where ;here’are
problems with unknown answers
o .. .C: by developing and using creativfhy, workers can make their
- S '~ jobs more interesting
D. ‘only.a lucky few have creative ability

needed only in certain jobs
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_.develop your creativity?

‘A, oréativ‘ity is 2 talent ‘giiré;gto only a few lucky people

T4

John and Martin were fighting about whether workers should fry to
develop their creative abilities. John sald that workers who

- .develop and use creativity. can make t eir jobs more interesting.
 He algo stated that creative.workeys often come up with ideas that -
. jmprove the company. _Martin, however, said that workers should

do their jobs the way they are told to do them. He stated that

- the only‘good ideas would come from the person®who was, hired to

think of new ways of doipg things. With which of the following

would Martin agree? = - . s o :

A. -creative ideas camr come from only a lucky few people

B.  creative ideas canjcome from almost anyone .= - _

C." ‘people cah develop™their creativity by learning and practice -

D. . by paying.a_tteptio‘n to what we usua‘l‘lyv do not pay attention to,
we can open our minds to new w‘a"y's‘-._o'f thinking ‘

RN

%.ch of the' :folfoﬁing do yduhavé to'“i:hink :Ls_érue_in order to

. - .

B. creativity is a characterispic potentially given to- al

! o human beings a birth ' e IR
-C.# people cannot change their thinking habits A
D

. creative thinking cannot be learned or practiced .

h}
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The first step in problem solving is:

A.
‘B.

C.

‘D.

Problem solving can best be described as:

A.
B.
C. -
D.

'PROBLEM SOLVING
<

evaluating - o

idea finding o .,
fact ‘finding . . :
solution finding

P
—

working in’ groups to gather facts

”the process of deciding what to _do about something
evaluating the, results of a solution "
working by yourself t6 come up with ideas

Which one of the following is true of problem solving o

D.

the ability to ‘solve problems is something you are born

~,-with, you either have it or you don't

- every problem has one good solution

. one thing that can make a problem harder to solve is not
-understanding for sure what the real problem:is .
once you figure out a solutien o a problem, you are finished

solving the problem , _ ‘ _ 1 .

The°last step in the problem ‘solving process is:

A.
B.

c.

D.

‘ Which of the following best describes the problem solving process?

A.
B.
C.
D.

i

fact finding ®
,idea finding
solution finding
evaluating

solving problems mostly ifvolves trial and error .
problem solving is a planned step~by-step process ’
problem solving is a careless method of getting ideas
solving problems mostly involves guessing ‘

6. &-Looking at a solutiofr to a'problem to see how it worked and to
find out if anything else needs to be done is called-

A\ fact finding

'B.

- C.

D.

‘idea finding 1
solution finding ' .
evaluating ¢ '

34
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7. A worker who says "I don't have to knoﬁ_how to solve problems.
Solving problems is not part of my fob: other people ‘get paid

to solve problems."” is:%

A. 'cosggct because most workers do—not .have to solve problems
- ,»1, on the job ~ S
f? correct because most workérs are not allowed to solve any
problemsion.the job . . _
- C.  inocorrect because most workers solve problems every day

. “

D. correct because most workers do not have the ability to

'éolye problems on the job

o

8. Workers who have poor problem solving skills: *

A. view problémg'with the idea they can solve them
B. understand and use the steps of problem solving ~ ) L
'C. “should let others who were born with the skills solve their
_ ~ problems for them o s
co D. @ay cause more problems for themselves when trying to
o - solve a problem . = - - ) :
- } ] .
9. Rhoda works as the secretary for a small business. Her employer
. owns the business. Qne day Rhoda had to ﬁet some letters’ typed
" before the mail was picked up. The boss' wife'brought in a 4ob -
for her country club meeting and wanted it typed right aways ,
The same thing had happened several other time .- Which of the

following best states the real problem: . S

e

A. Rhoda had an important job to do upat-ﬁouié ot be finished
if she did the job for her boss' wife— ‘ ;

- B. the boss' wife'is inconsiderate of Rhodé's‘situénidn -
C.. how can Rhoda get home on time if she has to_do both jobs
D. does the business work or the boss' wife's work c first

and how can Rhoda find out
: S e : s .

- 10.  Tim has worked for a construction company for six months and

~ earns good money. He likes his job except -for one thing. Jim
has 'two bosses who have diffgrent ideas about the way things:
should be done. He gets upset when he does something to please
one boss and then is told by the other boss that "the de should
be done anBthgr,way. Jim is very serious about his job and does
not 1liKe being tpld all the time that he is doing something
wrong by one of the bodses. Which of the following seems to

- be the most important fact in this ‘problem? :

A. Jim works for a ‘construction company -
.B. Jim-earns good money’ :

C. Jim has two bosses with different ideas
D. Jim is very serious about his job

vy .

N : - . »
' . o .
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11, 'Jack's job in the shipping department is to check damaged goods
©  returned by customets and decide whether to give the _customers v

back their money’ or, not. Qné day he received some merchandise CL T
from a customer that had been used wrong-by the customer. Jack
refused to give th customer the money back because the mercHandise
was damaged by the’ cugtomer after it had been bought. ' The.customer"
was very upset and said that the’imerchandise was- damaged because
the directions for use were not clear. Jack had never heard this
reason before and did not know what to do. He gave the customer' the

, . - money back but wondered how- to solve. the problem if it ‘happened

L agadn. Which of the. following is the best aolution for the
o problem’ Jack should: -

A. do nothing‘because the problem will more than likely never
“happen again kR .
B. ‘talk to his boss about what happened and come up with a rule -
*  to follow the next'time the. situation comgs up "
- C.. fight with any customer in this 'situation to try to save
..7.’~the’ company money . :
D; not. bother his boss. with the problem and just give all |
Customers in this situation their money back -

Ke

- 12, - Sharon had just.opened a small leather shop of her own. Business
’ -was not very good. After about a month of being in buasiness she
decided she had better advertise in the newspaper to try to
-increase sales. ' Sharon thought that this was a good solution
. to* her problem and so did ‘other small business owners she talked
with. ' She advertised for two weeks but sales did not g0 up ‘at
.all, Sharon thought ghe had solved the problem but had not.
Which of the following is the- ‘next step in the problem solving
process for Sharon? o . R
A."evaluate the results of the solution
B. give up trying to solve the problem because if a good
' . solution doesn't work, -the problem cannot be solved. '
C. start the problem solving process over again with fact finding
D. try the same solution again : :
13. Many people try to solve problems by sta¥%ing with one solution
. ~even 1f the. solution does not solve the problem. These people
"have the wrofg belief that' :

A. every problem has one,good solution
B. solving problems mostly . involves .trial and lerror
C. " evaluating a solution to a\problem is an imp tant part of
. ... problem soI¥ing . . D
D. 'if a solution does not solve ‘the prqblem they should start
-+ the problem Solving process over e :




» V . 7 ‘- o . ’ . ) . ;v) * i
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14. 'PeOpie;caq_develop good pioblem sélving ékills.througﬁ practice.
Which of the following does not support this statement? .

A. most people.can develop their ability to solve problems -

* B. because people face many kinds of problems,{they negd to

~§§arn to be flexible in their .thinking
C

e ability to solve problems is something you are born with -

< . you either have it or you don't - S e b

D. people can. develop their ability to _solve problems by )
- learning and using the steps of thé problem solving process

L4

15.. Bob-and Anna were fighting about whether people can learn problem:
. ' "solving skills. Bob said that certain people are bo with the
K o “.ability to solve problems and others are not. Anna;rz;ugver, said
- that'alispgople'fQCe pfoblems of some kind’ everyday and that people
have a chance to learn the teps of problem solving and use them
- in problem situations. She said that many people just don't try
to develop their problem solving skills and that is why they -~
don't get any better at solving problems. With which of the
following statements would Anng agree? - -
S B . . '
A. ‘people eithet have good problem solving skills or they den't
“ .+, B. people can develop their ability to solxe problems by learning
’ . and practice , : ' S
C. every problem has one good solution ‘ o
D. the ability te, solve problems is not very important for
" most people S ' D ' ‘
16.\;Which of the following best describes why people should develop
their problem solving skills? R S
L ’ 4

. : SN
- . A. <the problems that .most people face are small and have simple (»
solutions.. These problems.take very,little problem solying.

©  ability. - o . ' -
B. most problems worth solving are ery hard and complicated
and .take specialists to solve . ’ ,
C. because people are likely to face many different kinds of
problems they need to develop their abilities to solve problems
D. solving probldhs requires only that people get help from o;hgrs

37
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AUTHORJTY AND RESPONSIBILITY - .
. - 1. Authority in a-jbb sit@étion can bs;t be ﬂeséfibed‘asf
. A. the duty of ﬁorkeféito do their jobs correctiy
- - B. the true way an organization works ) : -
, ©7C. the right to decid4, to act and to. direct others to act in
y \ reaching organizational goals ° '
C D. a description of how to .carry out job'duties
2: Responsibility in a job situation can best be described as:
: A. the duty of workers tgxtheir boss to do their jdbé correctlj
: ‘ B. the power to reward and punish workers to reach organizatiopal
N goals , ! . s ' -
C. the right to decide, to act and to direct others to act in
reaching organizational goals. R ) st ' .
D. a description of how to carry out job duties .
. s : ’ . o
° : r - f ? " ' - ' o : . ‘ d
' ot 3. _An organization chart: |- : r
' _ . describes all of the jobs.in'én-organization %'u

ghows the formal lines of authority within an organization
gives the organization's rules and regulations :
shows all the lides of communication within an organization

OO Wk

. .

« b Which of the following is not true of the informal organizé&ion?

' : . ‘ : ~ o
A. the informal organization forms because of personal relationships
f o within the)formal organdization ‘ v ' 3
B. the informal organization helps give workers a feeling of
. ' “belonging and emotional support -
v C. the jinformal organization can work for or against the formal

_ organization N et _ . o
D. the informql'brganizafion is always;well-defined and easy to
identify ' ‘ . gﬁ S *

5. . The following diagram shows: , ,

: . 1 - 5"[1

. . Ly -
- A. “the informal organization ' ‘ . .
;B. _the formal lines of authority within an ofga“hation
€. all the lines of communication within an organization
D. how important eac¢h position is to the organization
. o S S
. , -
v AN N

B
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ig The informal organization can help the formal organization reach
its goals. This idea is best shown by

* - .A. warkers not following cbmpany rules by acting as a ‘group
.-+ ' B. workers working tegether .to. help a fellow worker with a 1arge
' - job in. order to finish it on time ‘
' C. workers forming a car pool. to save gas
D: workers have formed a bowling team for a local 1eague

7. - A worker's responsibility is more than just doing a job. Workers

' ’ . who show lo}alty, enthusiasm, dependability, honesty and .a
PR willingness ‘to. learn and accept triticism, are showing:
N A. a negative attitude B _ ‘
.B. a positive attitude o : ' ) . .
0 C. an ability to handle the technical’ parts of their job '
D.. that they can't handle the technical parts. of their jobs
- 8. A worker who ‘has the same job as many other workers but who has.
more influence ‘thap the others can be said to have
4 4 i~
' . 'A. informal authority C . - : ” \ .
: B. formal authority - . - -
- C.  formal responsiblity : : oy L
D. - a bad attitude : 4 : '

. 9. Seven employers from different departments of a large compaﬁy havé
formed a basketball team. They play other teams on Saturday
mornings. = They have gotten to know each other very well. Some-
times they call on each other for ‘help when a job needs to be done
in a hurry - This: is an example of'-

;T negative attitudes on the job :
" B. the duty of workers to- their boss. to do their jobs correctly
"«C.  the formal organization

D. ‘the informal organization

; : e A Y - .

3. 10. CGwen works in the customer servyice department of a bank. dhen she

is not helping customers with their problems she does not have

/ ‘much to do- ‘ She was given anothdr job to do one week by her boss

in" addition to her normal job.  The job was not very big and could
have easily been done “in a day .or so. When the week was over the
"+ boss asked Gyen how the job had gone. Gwen had not done the job

{; ° @and told the“boss that she had not had time. This situation is an
- exa le of a worker:- ‘ :
I Vo> \
\f““ A, planning ahead to make.sure work is done on time ’
B. wbrking for resulps with a good attitude . R
* C. ‘stayizﬁ ‘away .from responsibility by ‘making excuses
D. *handiing responsibility by. dealing with:different work situations
‘ 4
/ ?- ~ . . i

2
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11. Workers can deal with their new jobs.féster if they stﬁft Iearhing
““about - their job respbhéibilities_ahd authority right away bécause:

A. it is not important for workers ,to have clear

-~ job responsibility and authority’ - P Lo

.o B. " a formal job description does.not give wédrkers information tg

_ - about job responsibility and authority IS

- B C. .trial and error,is the best means to use to learn about job'
o -responsibility and authority = I S D
LA D.' knowing about job autﬁbrity and responsiblity can cduse workers
S - “go'make-less and help new workers to\be better workers ' '

. N ) :
eas abdut-phelr}
.3

Lo12. .Billyhad,been;workingifor'six months before he was fired. Bill~
’ ~did his job.better than any of -the other workers injthe-qffice,ﬁ
~°  'but he had often said he woiuld not help others with their work
o _ - when they had too fiuch to do. Bill did just ‘enough work ‘to ‘get
e 'bys Bill had calledin sick many times and three times missed
N work without telling his boss. .Since Bill was good at his job,
I he did not-like being told how to do his job and.got angry when
" ‘ he was criticized by the boss. Bill was_probably”f#;éd because:

-, -

. the boss did not like Bill - . - o
- he made the other workers look bad by doing his job so well

. -he did not approach i, job with a positive attitude’ '

. the boss expectegctogf;ﬁhh from Bill I

gawr

13. Workers -should know.aboutsthe influence of the informal o;ganization"u
.as well as the lines of ‘authority formed by the formal ‘organization. . -

On whicb'pf the folloWing_is this statement based? U
A. the formal orgamiaation'is usually well-defined and ;;;;KGEL/Z,
ot pick out; however, ny job situations are also influenced -
- by an informal orga zation that,is-important to see and _
- .understand : R E

B, -thevformal.organizatioh_as_Shown'b"an.organizétiOn chart, - -
'ShQWs all of the lines of communicatign within an organization,
any important information will come #0 :a worker thrdﬁgh the
" formal organization . ’_ﬁkn" :

. C. the informal organization always works against the formal _

. organizatiosm, workers need to know about the informal organization

S so-they cah stay away from it and keep fheifuijS. e _ .
D.  the infermal organization has all of the lines of communication

///(f' within .an organization, any important information will come -

)

‘to a worker through”the informal organization

«®
-
~
v
-
~
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3fcfr'the_informal\grgigization can work for or against the )
A worker said: "I'm finished )
'fail on the job. Making excusel just causes more problems."

“A,"people who make excuses may tart to believe their own” -

- B. making excuses ds a good vay f staying away from failure and .

Which of the following best states $hqt business usually wants
from their workers? ) : ' .

4

t
]

A. businesses expect workers to handle the technical parts of
their jobs only .+’

'B}y-businesses expect ‘workers to be Ipyal enthusiastic dependable,

.- honest and willing to learn and accept criticism as well as
* handling ‘the technical parts of their jobs
C. businesses ‘expect ‘bad actions from workers because they know
people ‘don't really like to work

'D.' businesses expect workers to do only enough work to get by

N

" Elien and Joanne were fighting about the importance of the informal
‘organization at theirebusiness. Ellen said that the Ainformal oggani-

zation was bad for t company because it got in the way of the

‘formal organiz%fion;and tried to get workers to not pay attention

to compiny rules. Joanne, said that she agreed with Ellen. But,
she also said that the informal organization helped the business

‘get ‘things ‘done: ‘and also gave the workers a feeling af belonging:

and emotional support.- ich one of the following shows how <
Joanne would .end the tal - ; S 1

. . . ! é ' . .
A.: the informal organization always works for the formal - organization
B. the informal organization always wprks against the formal

organization - 7

formal organizat
D. _thé informal organi

on is usually easy to pick out in a.
' company . : ' N t

. C
king excuses for myself when I -

Which of the following does not. zgree with this sentence?

~ excuses after ‘awhile
keeping your - joh, .

C. making ekcuses can ecome a ha it

D. workers who make excuses may lode confidence, because they
never give themselves a chance.to succeed B
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oy f—~LEADERSHIP o

l. Which of the following is not a basic style of leadership7 o
"A. "iron-fisted" (autocratic) Lo T,
B.  "hands-off" (laissez-faire) .
C.' official .
D: "1et's-vote"'(democratic)

B
2. Which of the following is true of leadership’
. A.. leaders are born witﬁﬁcertain qualities that make them good
leaders ' '

B.. leadership is a combination of skills that people can develop
through ‘learning and practice

C. leaders are always chosen because of what they did in the

. . past™and ability

D. leaders are 4lways chosen because of who they know, rather

than because of their ability : : L

3. 4In the. "iron-fisted" (autocratic) style of leadership decis1ons arey

made by . . o . T
i ) A : N . . -

A.f the leader only :

B. the group rather" than the leader

C. no one .

D. the group and the leader

. e Ty -
4, Leadership roles that have to do with the group's-gbals are
“ called: . : /)

A. maintenance roles
B. forgal roles: ' - : L o
C. informal roles - I A RO
D. task poles - : ) a f’% .
5. Two theories of Ieadership are theory X and theory Y.  Which of
the following /sentences best describes e main,difference in
_7‘ ‘the two theories’? ' C

A. one theory uses the. "let S VGt democratic) style of leader-
" ship and the other theory uses the "hands-off" (laissez-faire)'-
style of leadership -
. B. one theory says that people, hate work 'and try to stay away
from it when they can and the other theory says that work can
. . be a source of satisfaction for people A : :
C. one theory says that leaders are born and the other‘theory says
that leaders are made . , S, -
D. one theory uses one hoss for. each worker and’ the other theory
' uses more. than one boss for each worker ‘ '




. 6. A boss lets group members/help make a decision.” Which style of

v leadership is the boss-using?,
: A."ﬁiron—fisted"_(autocratic)' A S . .
. ' B. "hands-off" (laissez-faire) i°4 N3

, c. "let's-vote" (democratic) e R .

' D; offieial

.

7. One theory of leadership style is theory X. Which of the following"

is not true of theory X? :

A. people hate,work‘andvstay away from work if possible

‘B. work can be a source of satisfaction for people

Cc. workerswouldrather stay away from responsibility and making
decisions

D. most workers in an organization must be for ed or frightened
to gEt them to work hard ° : . :

8. When people say "leaders are born, not made" they are: _'

A, préﬁably correct because most of the qualities it takes to
be a leader cannot be learned .

B. probably correct because leaders are always chosen by who
they know'" rather than because of their ability

,C. probably wrong because leadership is a skill that people can

| - develop through learning , practice
' 'D. ‘probably corregt bec!jﬁe leaders are always people who ' rule

with an iron hand" - .

" 9. Which ofpthe following 18 an example of a leader doing a maintenance
or people role? -

.

o . A. asking management for more money for the workers ‘
" B. ".the supervisor of.a group of workers is telling the workers
" - how to do a job o -

the supervisor of a group of workers is‘checking to see if

-C.
p " the job was done correctly
- ) D. the supervisor of a group of workers is making a report to

management about work done during the past week

10. John is a manager ir a large department store. 'The wo:igrs who
work for John describe him as a dictator. John does n#f accept
any suggestions f£rom the workers and is always giving orders. .
Which of -the following leadership styles does .John use9;, o

. "hands—off"(laissez-faire)
"let's-vote" (democratic)'
official

: "iron—fisted" (autocratic)

. . . . ' -

g aw

T
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11.  $usan is the office manager for a business..- A worker has come up
' with an idea for doing a job faster and better. Before Susan will
. allow, the worker to use the idea on the job she is going to have

all of the workers talk about the idea. Then as a group, the

workers will decide whether to use the new idea or mot. Which

of the following leadership styles is Susan using?

. "hands-off" (laissez-faire)

. "let's-vote" (democratic)

. official

. "iron-fisted" ‘(autocratic) .

90w

12. Larry just got.a job in an organization and has a leadership'fole.
Which of the following senances is not good advice for Larry?

A. Larry should figure out which style or styles of leadership
“ suit him best T ' . %
' B. Larry should remember that each leadership style has a different

effeat on the job and people involved :

* C. Larry should remember that which leadership style to use.

" depends partly on the situation
D. Larry should pick one leadership style to use and never change
it P B : B :

'13, A leader whd is almost always concerned wifh'the'task roies‘of.
leadership probably uses which of the following leadership styles? .

. "iron-fisted" (autocratic) N _ e :

. "let's-vote" (democratic) ' _ ' ‘
. official - o ' ‘ ‘ : A
. "hands-off" (laissez-faire) = : .

TTow»

14, ?A leader should use both the task and maintenance roles of leader- °
ship. On which of the following is this sentence based?

A. people would rather work for a 'leadgt interested in people
B. people would rather-work for a leader interested in the job .
C. groups whose leaders pay attention to both the people and the
- job get the most done and get along the best . :

D. most workers in an-organization must be forced or frightened

to get them to work hard’




’ ’ ’ _4- . . .
15. Managers and bosses who believe in the theory X of leadership
' probably 'uge which of the following leadership styles most of

the time? ,
A. "iron—fisted" (autocratic) o
B. "let's-work'"‘(democratic)
R C. '"hands-off" (1aissez-faire)
D. official :

P B Ay

'16, Which of the following combinations of 1eadership theories and
1eadership styles probably go together best most of the time?

A. theory X and democratic style S €
- B. theory Y and democratic style

C. theory X and laissez-faire style’ . "

D. theory Y and autocratic style ~

jo

- A
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COPING WITH CONFLICT‘

l. Which of the following best describes conflict?

“A. a conflict ends in a violent fight between people
B. .conflict happens when a person's actiqns interferes with or
- frightens another person
- C. conflict only happens when one person is right and the other
*  -person is wrong ,
D. conflict situations. are always bad’ A -

g 2. Conflict. situations happen in four different stages Which of the
following is the last stage of a conflict situation?.

"A. taking sides - - : ' : |
B. keeping score _
C. thée showdown ' o
' D. adjustments | ' -
p3. “Which of the: following is not usually a cause of conflict on
' the job?" .
A. workers who have different needs or goals St
‘B. workers trying to stay away from hard or unpleasant jobs
C. the different prejudices workers have toward others
D

. all of the above may be causes of conflict on the job .

4. A good means of dealing with conflict is compromise. Which of
the following best describes compromise”
A. delaying . ) o ’
B. avoiding ) ’ : :
C. confronting with power
D. give and take E . : _ S

-

K4
5. Jerry handles a conflicg- situation by changing the subJect when

o the conflict comes up when talking Jerry is. ; L _ .

. confronting the-conflict situation S

.. delaying the handling of the conflict situation -

. avoiding the conflict situation . : '

. compromising by not talking about the conflict situation

Do wx

- 6.  Many conflicts that happen on the JOb are caused by preJudice.
Which of the following conflicts is caused by‘prejudice’
A. a fellow worker is always’ late for work causing others

_more work ' A o oa
B. 'a young worker is}treated unfairly by older workers .
.. C. a worker ds using fellow workers in order to-look good to *
o . the boss » '
' D. - 4 fellow worker does careless work that makes other workers

. look bad Coa .

7
L4 i -
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vow>

’ R .
You are the boss of several workers and have to handleythe

<. D. -make whatever decision seems best to

\

Workers who handle a conflict by’ talking it over, listening to
both sides, stating and making the problem clear, thinKing about hE
angwers to the: conflict deciding on an acceptable solution and o
evaluating the results are handling the conflict by which of the
following methods? .

f S

-

»

confronting the conflict and " compromising
-cdnfronting the conflict and using power
delaying settling the conflict o
avoiding handling the conflict '

The last stage of a conflict is called adjustments. One or both
sides may decide to make some change in their behavior. If one
side is asked to make all the adjustments, which of the following

18 1ikely to happen? \ . .
A. the conflict will be settled ) \\

B. the conflict will start over again

C. ‘the conflict will be ¢ ded iﬂq‘.? fragae: o

D. the comflict will be h ettled

L

Juan trys to get everything just ‘right and does hisJob“very well
He gets very upset. with a fellow worker who is always making
mistakes. This causes Juan more work since he has to correct the
mistakes. Several times Juan has "blown—ugvz/tythis person, which
has caused hard feelings. How can this sifuation best be handled?

A." Juan should keep,"blowing-up at the fellow worker whenever
7 mistakes are made to make sure the fellow worker knows he is,
_upset -

- B. " Juan should not worry about the other person’'s work and Just

correct the mistakes when they happen
C. Juan should do nothing now and'wait to see if the problem ..
'goes away’ -
D. Juan should talk to the fellow worker about the problem, he *
" » should listen to reasons for the mistakes arid both workers'can
-then decide-on An answer to the problem a 5
following problem.. A conflict has developed betyeen the workers "
over who should have to do a new job that is very hard. The older *-
workers say that the—newer workers should do the Job and the newer .
workers do not think this is ‘fair. Which of the following is the
best means of handling the conflict?

A. stay out of the conflict and let the workers settle the conflict
" in whatefer. way they can = ° :

" B. do something thatrwill "cool off" the situation for a short time

C. 1listen to both sides, think about several answers, decide on
an answer by compromising and put the answer to the problem :
into action

ou and say you will hold

-pay back from workers who ‘do not go al with your decision

.__53()._1

< .
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12.

13.

/ D. handling conflict situations should be a matter of habit

-3-

T

‘Prejudices can cause a difficult kind of conflict Which of thHe

following is an example .of a conflict that has been caused by
prejudice? :

.A. a worker who has no right to be 1s very bossy causing other

workers not to like him or her
B. certain workers are treated unfairly by the boss because

they are young
C. a worker 1is causing a conflict by "using" other workers in

order to look good to the boss , ~
D. certain workers are trying to stay away from hard jobs, this

is unfairly making more work for others |

'

Ellen has spent many days working on a mew filing system for the
office. The new system works much better than the old system did
and takes up less space. Ellen is pleased with the system and is
proud to have come up with it. One morning shortly after the system
was started, she heard the office manager taking credit for coming
up with the system while explaining it to the company president.
Ellen is now,very upset. The conflict that has developed is an
example of ‘a conflict caused by:

A. workers being-treated with preJudice

B. workers with different needs or goals trying to get what they
want or need at the expense of others

C. - workers*who cannot or will not do their Jobs correctly -

D. workers trying to stay away from unpleasant or hard jobs

For many reasons,. conflict situations often come up between

workers om the job. Which one of the following best states the
reason why workers should be able to handle conflict?

A. there is no room for trouble makersg on the job
'B. ' conflict 1s always a bad or- unpleasant situation that should .

be’ stayed away from
C. by working out conflicts workers can make»changes to improve
their working situations

for workers ' - -
’
.
1)

"Which of the £ollowing sentences is not true of conflict situations

on the job? .
h.' on the job, conflict may cause workers to.becomezmixed up, )
“upset and not willing to help each other oo
" B. the best thing to do when conflict happens is to ignore it
" Cx° conflict can be a learning experience for workers « <
D.

sometimes .conflict on the job may end ir a fight -

-

v
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a

15. Most conflicts go through four stages. Which of the following °
stages of conflict 1s most important for settling the conflict?

A. taking sides . %
v B. the showdown
! C. adjustments
D. keeping score-

16. Bob 'said: "There should never be conflict on the job, the boss
should just tell the other workers what to do and the workers
should follow ordera.” Which of the following sentences does
not agree with Bob's beliefs?

‘/ A. by working out conflicts, workers .can make changes to improve
' . their -working situation

B. conflict is usually bad or unpleasant

C. conflict may cause workers to be mixed up, upset and not

willing to help others \
D. conflictsﬂwill not “happen if ‘the’ boss uses authority or power |
>
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/ S . COPING WITH CHANGE

1. People have to deal with changes in their lives:

" ‘A. only once in awhile o (
B. probably every day ’
C. only if they want to
. never , . A . .

2. People s attitudes toward change has something to do. with their’
ability to deal with change effectively. Which of the following
is not ‘an attitude that favors change?

-~

3

A, optimism
B. self-confidence

{ C. - pegsimism - co :
J . D. flexibility % . "" Y o » _ :
3. Which of the following is not important ‘when learning to accept
. " change?
. A;, being set in your waYs and not_ willing to change
B. knowing about the. good. points of a change
C. knowing about the\bad points 'of “a change
D. coming ‘up with ways ofsdecreasing the bad points ‘of a change .
4. ‘When deciding how to react to- changes, the. f1rst step in dec1s1on—
making 1s e e -
A.,.mawing a decision TN s R
B. finding alternatives - ‘ C
C<+ defining the problem . C - T,
D.  understanding the.situation ' .
. LI : ) .. .
5. The more.people accept change, the: i
‘A. hardér it‘is'to deal. with thevchange
B. ‘easier it is to deal with the change
- C. - more time it takes to deal with ‘the .change .
D. dumber they are- . »

T '6, Workers who 'do not-want to accept a certain change can f1ght it
in many ways. Which of the following ways of fighting change is
" the most likely to cause problems for workers’ . ’

—
.

s o A compromise or substitute o . o
. .B. request not-té comply with the change in*. ‘ '
¥ . . . C. fight the change .

- - ..D. refuse to. accept the change'“_ R

s [N

5,



7, One way for people to deal‘with c ges that they do npt like is .

- tp compromise Which of the féll ng is an example of compromising’ s

. . ‘ -

A. not being willing to accept the change.and take the consequences- )

: 'B. fight the change because it is unnecessary .

~ - . C. come up with a substitute plan that will be accepted 1n placé\‘
of the change , ,

D. looking for the bad p01nts about the change

- 8. Optlmism, self—confidence, flexibility, enthusiasm for life, e 8
.- - willingness to.accept uncertainﬁy and self-control describe people
‘ ' - who usually have , .

P

‘*’_A. a positive ‘attitude toward change ' T -
B. a negative attitude toward: change ' e S
= . C. difficulty ‘dealing with change . - - . *. el
: L n D v trouble dealing with new work: situations L 3

9. Evelyn has worked in’ the shipping department of a large business for o
©  three years. ’Management has decided to ‘put together the shipping.
Soen . department and the- receiving department to save money. Fewer workers
: ~~ will be needed to run the new department and some jobs will be done
away with Evelyn just got the word that she will have to learn -
‘ a new job if she wants to stay with the business. She is upset -

with having to change jobs because she likes her job and does*not

S ‘want to be bothered with learning a new one. Which of the foLlow1ng
- ':'; should Evelyn probably do? ’ -

-

A, fight the change - ' : S
B.  dor”t change jobs and take the consequences e,

- C. accept the’ change but \look at ‘both the good -and bad pointsvi
" .of the change o c .
D.  try to get out of the change by saying her job is too -

important ‘to get rid of. _
10%. One way of dealing with change is to try to accept the change by .
= - ) knowing about its good ‘points and bad points and decreasing: its
bad points. This idea is best shown by which of the following
A Sentences7 R ' - :
A.' "I don t think I should haVe to change since I have worked
“ here for ten years' ‘ :
_B;u "The change. is going to cause some problems for me,‘!ut ;
think it will be good for me in the ‘end" _
--C. , I don't have to accept this§change and I'm going to fight it
’ ‘all the way'' ,
D. "I-will accept the change if I am allowed to make some changes o

‘in the plan" L o
R A Y
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o 11, “Gary and all of the other workers at the store hav Just heard (.
’ - that all-workers will have to start wearing unifor: , '
‘business name .on them. Customers ‘have not been .abl. to see sales
people when they need help.a Gary is the only worker \at ‘the’ store
who never deals with customers since he is in charge '
. keeping -and- does not” leave his ‘office. Gary does not - ‘
« '+ wear a uniform everyday and.does not see any reason- for | v
change If Gary d0es/not want -to ‘change he- should prob bly~
. , < . .

. A, accept the change anyway and try to find some goodt oints
. B., make a;request to management that he not be made wear the
‘ ‘uniforms since all ;ﬂﬂnges are not meant to include all B

emponeeg all the.t o

“fight the ¢hange by complaining to management
D. wrefuse to accept the change and take the consequences

-,

A12, A person,. 1is: faced w&th a change situation on the JOb and is try1ng

a7 to decide whit to do- about the. _change. Which of the follow1ng stepé
R SRR { the decision-making process is the person using? o
T A understanding the situation . T . °

B. ‘lefiniglg the problem -
L . finding alternatives;
< VD, making d selection

~

. 13.ElAll people do not thinkéthe ame way - about change.‘ It is not right
e to expect everysperson to either completely accept ‘or mpletely
‘reJect a change On which of the following ds this seagence based°

A > the¢ are degrges of acceptance or rejectiOn in a. reaction L
; to change e : o J/J'
B. . all people react to. change in the same way . o

C. when people are faced with a changing situation they can e1t' Q

°

_completely accept or. completely reject the change
" 'D. ‘workers must accept changes on. the job C ,;;'
"q 1.
+ 14, A change in the price of oil has something to do with the pr1ce a
' - person pays for gasoline. This change may -also have something to
do with money that an oii worker makes On which of the folloW1ng
is this sentence based? : . _
A, lqhanges affect all people in the same way :
- B. only changes that affect large “numbers of- people are important
- C. "changes affect different people in different ways (R
D. refusing to accept change is:a difficult job. ’
4
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T 15.' In order ‘to accept a change‘with a good attitude, people must
: . ‘know about the good points and bad’ points and think of ways to
. decrease the bad points.. Which of the following does not agree
__with this sentence? :

. A, 'most changes have good'points andvbad‘pqints N
._'changes are eithet all good or all bad - .
. change affects different. people.in differegtoways
. by looking at. the good points, we can acce change more
".‘. e, o ea? y . e . . S : o L ——
e '16,, Which af the following best describes why people should \Earn to
- . deal’ with chagge? ' o

Yo

e T A: people have -to. deal with changes every day in all parts
B © " of their lives
B peOples attitude toward change cannot belchanged o
< C. only management or: other 1eaders have 'to deal with change
- _on the job S . -
D. the rate of change in the world is slowing down ’ '
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ADAPTING AND PLANNING FOR THE FUTURE T

, AThe lorld of work is changing fast,.< 'l‘he rate of 'chan'ge in the :

future will probably be.

A. slower than- today

B. faster than today ; :

C. about the same as today - . e
D.w impossible to predict

14

[

. A career plan that allows workers to plan for their future' f

\
.should be flexible and ab1e to be changed .
should be rigid and stuck to at all costs .- -
'is not helpful to workers : -~ :
is based all on the past

\Which of the following is a eorrect description of the future? -

. . the future is already fixqs X
the future is all a matter of chance :
people are in complete control of their futures

none of the above description§ is correct by itself
(4 ‘e

UOB’_:b

. Which of the following will not affect workers Ain the future"

population changes .

changes in the*e~§ironment

econ mi? Lhangeg .« .

all of . the above: yifi affect workers“&n 5he future

Workers who befieve that the future is a1ready fixed wou1d

A

. see no use in planning ‘for the future ' ".' e
depend on good luck - b :
aet as though they ‘are in completé control of their futures

none of the above . ! » ) . _ SRR

’

;The idea that workers in the- future will change Jobs ten times
" before’ they retire best shows which of the followingLideas9

there will be many people out of work"

technological advances will be slow in coming

jobs. will become out of date’ very quickly

Jworkers will no longer take pride in their work
l) )

’ Z ~

«
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. sl A worker who says, "The future is a great roller coaster that wer,

e, B ride'through life unable. to get off or direct™ is describing the: - .
e - future as: - L : o I
A.  fixed-and -beyond our control ng : S e

. ~all a matter of chance e I Pl

B
C.” able to.be completely controlled
, , ‘D. a mix of alE of the,above idegs
Lo ' i " ’ ‘ .
. 8. Raising/the retirement age: ofivorkerS'to_age-75 best .shows which

™~ of the following ideas9'
~'A. " many jobs that are here today will not be here in ‘the future
'B. workers will be given time off to learn new skills
C. seniority will be abandoned as a means towards promotion
D. the U.S. population will increase slowly There will be fewer.
© young people looking for jobs ' :
- 9. -Nancy has just graduated from high school and ha~‘learned'how to ., )
run several, modern office machines Which of the following is
' .most likely to happen’ ' . _ : »
Ut - A. Nancy will be/using the skills she learned for the rest of

her working career . .
fB. -Nancy will have-to learn newskillsbefore getting a job
because the skills learned are. probably already out of date
v _ C. Nancy will use the skills she learned as soon as she gets a -
. .+ job but will probably have to 1eapn new skills. .in, the years '
to come - ”

"Ds Nancy will not be able to use the skills learned at. school «
because the office machinés used in business ate not ‘as
’modern as those office machines used in schools
10. - Two‘workers have been working‘at the same job for several years

The* workers have just been- told by managemen that one of them has :
to be let go, and the other given a new job that takps different
skills . The worker mbst likély to get the new JOb\iS

T AL the worker: who has updated his or her skills by learning new’
skills over the years 4 ,
B. the worker who is lucky'‘' .
.C." the worker who is. younger » '
D. a new-worker will probably be hired -
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ll "If around two-thirds of the jobs available in’ the year 2, 000 do
not exist today, which of the following is probably true?
I
A. two-thirds of the country's workers will be out of work
B. people will have ta plan for different jobs during their
careers ) o .
C. skills learifed in high school will be the same skills used
throughout a' person's: .working' career -
D. most workers will work at the same job for all of their careers s
. . L3S .
12. Larry has been at his job for two years and would like to stay
with the company. Hoyever, he has just been told by.management

R : “ that-a change is being made t t will cause him to change JObS in
ordef to stay with the’ company Larry should probably: .
, . " _
. x . .

_ A. refuse to change jobs - -, _ 1 . A

N B. 1learn the skills needed for the new Jobs-9 i
_ c
D

. find a job with another co /y using the skills he has now
. try to convince management ndt to make the change .

13. A group of workers were talking about their. plans fot the future
~ and the chance of having to go back to school to learn new -skills.
-.The boss who was listening to them.talk said that he or she would
<“not have to worry about learning ifew skills because the way to
- be ‘arboss will never change. Which of the following best descr1bes
the boss belief tbward the future° "
Y , R . -
. " A, in order to deal with changes in their work en ronment,
’ é workers need to be prepared for changes !
_ B. plans for.the future must be flexible enough to allow workers
N (X to make adjustments as changes happen
.C. planning for the\future is needed by some workers but not
: by all workeérs . ‘
D. people who set goals are involved in creating their own
future

14. The world of work will change even faster in the future than it -
‘ is changfng now. 1If this sentence is tru€, which of the following
‘ will probably not happen’
4 C A. workers" willwhave to. change jobs several,ﬁtmes during théir
. . careers
'_B.;-workers will stay on one jbh using the same skills for their
: 'ivwhole career .
C. most of the jobs that will be here in the year 2 000 are not

. even here today - v
D. workers will have to learn new  skills after they finish high'
- . 'school just to keep their jobs .
S
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ol

- count toward promotions and advancement. ,
.correct, which oi.the following is the reason why’ ' <

- —4— |
The length of time a worker hes'worzed for a company will not
If this sentence is

-

A.. those workers who have current knowledge and skills will be
valuable to the company
B. the retirement. age will be raiseﬁ to seventy—five
C. the retirement_afe will be lowered to forty-five
D. seniority wiil be even more important for job promotions in
‘the future than it is today )
v .

Which one of the following best describes why workers need to g

“have flexible career plans?

A. the future is fixed and there is nothing that can be done
. to change it >
B. 1in order to deal with changes ‘at work, workers need to be
prepared fo? changes, including opportunities and bad .tyuck
C.. the future is all a° matter of chance and workers will n ed to
" .depend completely on good luck
D. wérkers who have a career plan ate in complege control of
" their future

C e
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